N° Chemical names Smile Codes
1 Acetoxydihydroxyheptandecene C=CC(C#CC#CC(O)CCCCccrccrcreeocc(c)=0)oc(c)=0
2 AcetylDglucopyranosyldiderroside g;co%[)ggéS][fc@zgg(lj(ocZC(O)C(O)C(O)C(COC(C):O)OZ)[C@@H]([C@@H](OC(
3 Ambigol A CIC1=CC(Cl)=C(OC2=CC=C(Cl)C=C2Cl)C(0)=C1C3=CC(Cl)=CC(Cl)=C30
4 Ambigol C CIC1=C(0)C(Cl)=C(0OC2=CC=C(CI)C=C2Cl)C=C10C3=CC(Cl)=CC(Cl)=C3
5 A“(ascEarf'lcé‘)C'd 0=C(0)C1=C(CCCCCCC/C=C/C/C=C/CCC)C=CC=C10
6 Ancistectorine A2 C[C@H]1C2=C(0)C=C(OC)C=C2C(C3=CC=C(OC)C4=C3C=CC=C40C)[C@H](C)N1
7 Ancistrogriffine C gi):CC.’:Ll:C(C2:CC:C(O)CSZC2C:C(C)C:CSOC)C(O):C([C@H](C)N([H])[C@@H](C)C4)
0OC1=C(C2=CC(C3=CC(C4=C(OC)C([C@ @H](C)N[C@@H](C)C5)=C5C=C40)=C(C=C(
8 Ancistrogriffithine A C)C=C60C)C6=C30)=C(0)C7=C2C=C(C)C=C70C)C(OC)=C([C@@H](C)N(H)[C@@
H](C)C8)C8=C1
9 Angoroside C OC1=CC=C(/C=C/C(O[C@@H]2[C@@H](CO[C@H]3[C@H](O)[C@@H](O)[C@@H](O)
9 CO3)O[C@@H](OCCC4=CC(0)=C(OC)C=C4)[C@H](0O)
10 Caaverine [H[C@@]1(N([H])CC2)CC3=CC=CC=C3C4=C1C2=CC(OC)=C40
11 Caffeicacid 0C1=C(0)C=C(/C=C/C(0)=0)C=C1
12 Chaetoxanthone A :(LZOC1:C2C(OC(C:C(O[C@]3(C)O[C@H]4C[C@@H](O)C3)C4:CSO):C5C2:O):CC:C
13 Chaetoxanthone B COC1=C2C(0OC(C=C(O[C@]3(C)O[C@H]4CCC3)C4=C50)=C5C2=0)=CC=C1
14 Chaetoxanthone C OC(C([C@]1([H])O[C@H](C)CCC1)=C20)=CC3=C2C(C4=C(OC)C=CC=C403)=0
15 [ — 0=C1C=C(C2=CC=C(0)C(OC)=C2)0C3=C1C=C(C(C(C4=C(0)C=C(OC)C=C40C)=0)=
ssampelofavone C(C5=CC=C(OC)C=C5)06)C6=C3
. 0=C1[C@@H]2[C@]3(02)[C@]4(C)[C@H](O)CC5[C@](C)(C)C(C=C[C@]5(C)CACC[C
16 Deacetylgedunin @@]3(C)[C@H](C6=COC=C6)01)=0
17 DemethylpraecansonA OC1=C(C=CC(C)(C)02)C2=CC(OC)=C1C(/C([H])=C(0)/C3=CC=CC=C3)=0
2.2-dimethyl-6-carboxyethenyl-2H-1- _ P _ PN
18 benzopyrane OC(/C=C/C1=CC=C(OC(C)(C)C=C2)C2=C1)=0
2.2-dimethyl-6-carboxyethenyl-8- _ _ _ _ _ —1\=
19 " prenyi2H-1-benzopyrane OC(/C=C/C1=CC(C/C=C(C)/C)=C(OC(C)(C)C=C2)C2=C1)=0
20 D'mEthy'methongﬁglzo‘:hrome”y'mEt COC1=CC2=C(C=C1)0C(C)(C)C3=CC=C(CO)C=C32
21 Entkaurenoicacid C[C@]12C(CC[C@]3(CC4=C)C2CC[C@@H]4C3)[C@@](CC(O)=0)(C)CCC1
22 EntnaringeninylOmethylnaringeninyl Sgg;ﬁgg&?ggz(gc%gg])gjég)%%()igggg'ﬂ(C4:CC:C(OC)C=C4)O3):0):C(O)C
o OC(C(OC(C1=CC(0)=C(0)C(0)=C1)=0)=C2)=C(0)C=C2C3C(OC(C4=CC(0)=C(0)C(O)
23 Gallocatechindigallate —C4)=0)C(C5=C(0)C=C(0)C=C503)=0
24 Gamafagarine COC1=C2C(0C=C2)=NC3=C(OC)C=CC=C31
25 Garciaxanthone B C=CC(C)(C)C1=C(0)C2=C(C(0)=C1)0OC3=C4C(C=CC(C)(C)04)=CC=C3C2=0
26 Geranylgeraniol C/C(C)=C/CC/C(C)=C/CC/C(C)=C/CC/C(C)=C/CO
27 E—— 0=C1C2=CC=CC(0)=C20C3=C1C(0)=CC(/C=C/[C@@]4(C)[C@](C5=CC(0)=C(C(C(C
=CC=C60)=C607)=0)C7=C50)([H])C=C(C)CC4)=C30
28 Haemanthamine [HI[C@@]12N3CC4=CC(OCO5)=C5C=C4[C@@]1([C@@H](0)C3)C=CC(OC)C2
29 Helenalin O=ClC=C[C@]2([H])[C@]1(C)[C@@H](O)[C@H](C(C(03)=0)=C)[C@H]3C[C@H]2C
30 hydroxyanthecotulide C/C(C)=C\C(C/C(C)=C/[C@H](O)[C@@H]1COC(C1=C)=0)=0
31 Hydroxydaidzein 0OC1=C2C(C(C(C3=CC=C(0)C(0)=C3)=C02)=0)=CC=C1
Hydroxymethylbutendimethoxytetrahy _ o _ — -
32 drofuroquinoliylacetate COC1=C2C(0C=C2)=NC3=C1CCC(OC(C)=0)[C@]3(/C=C/C(C)(0)C)OC
33 loxadispiroketalaculeatin D O[C@H](C1)C[C@@H](CCCCCCCCCCCCC)O[C@]21CC[C@]3(C=CC(C=C3)=0)02
34 Ivalin O[C@H]1CC([C@@](C[C@H](C(C(02)=0)=C)[C@H]2C3)([H])[C@]3(C)C1)=C
35 Komorovinone C[C@@]L(C)CCC[C@@]2(03)C1C[C@@]3(0)C(C(C(C(C)C)=C(OC)C4=0)=0)=C4C2
36 Luteolin 0=C1C=C(C2=CC=C(0)C(0)=C2)0C3=C1C(0)=CC(0)=C3
37 e Sécs@H]l[C@@H](C)[C@H](C2:CC:C(OC)C(OC):C2)O[C@@H]1C3:CC(OCO4):C4C
38 Methylpluviatolide 0=C10C[C@H](CC2=CC=C3C(0OCO3)=C2)[C@H]1CC4=CC(OC)=C(0)C=C4
39 OdimethylancistrocladiniumA COC1=CC(OC)=C(C(C)=[N+](C2=C(C=C(C)C=C30)C3=C(OC)C=C2)[C@@H](C)C4)C4
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Parthenolide
Phenylanthraquinonesknipholone

Piperine
3-Prenyl-4-hydroxycinnamicacid
3.5-Prenyl-4-hydroxycinnamicacid

Sarachine

Sophoraflavone G
Tiliroside
Usnicacid R

Usnicacid S
Vismione D

C/C1=C\CC[C@]2(C)[C@ @H](02)[C@@H](OC(C3=C)=0)[C@H]3CC1
0=C1C2=C(C(C3=C(0)C(C(C)=0)=C(OC)C=C30)=C(C)C=C20)C(C4=CC=CC(0)=C41)
=0

0=C(N1CCCCC1)/C=C/C=C/C2=CC(OC0O3)=C3C=C2
OC(/C=C/C1=CC=C(0)C(C/C=C(C)/C)=C1)=0
OC(/C=C/C1=CC(C/C=C(C)/C)=C(O)C(C/C=C(C)/C)=C1)=0
C[C@@H](C1([H])CC[C@H](C)CN1[H])[C@@]2([H])CCC3C4CC=C5C[C@@H](N)CC[C
@]5(C)C4CC[C@@]32C
OC1=CC(0)=C(C(C[C@@H](C2=C(0)C=C(0)C=C2)03)=0)C3=C1CC(C(C)=C)C/C=C(
Cc)\C
O):\C1C(O[C@@H]ZO[C@H](CCC(/C:C/C3:CC:C(O)C:CS):O)[C@@H](O)[C@H](O)[
C@H]20)=C(C4=CC=C(0)C=C4)0C5=C1C(0)=CC(0)=C5
0=C1C(C(C)=0)C([C@]2(C)C3=C(0)C(C)=C(0)C(C(C)=0)=C30C2=C1)=0
OC1=C(C)C(0)=C2C(OC(C2(C)C3=0)=CC(C3C(C)=0)=0)=C1C(C)=0
C\C(C)=CICCIC(C)=C/COC(C=C10)=CC(C1=C20)=CC3=C2C(CC(O)(C)C3)=0




